ASP-V/IECOG/DSE-IA/23

-A./B.Sc. 5th Semester (General) Examination, 2023 (CBCS)
Subject : Economics
Course : DSE-1A
(Basic Statistics)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as applicable.
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1. Answer any ten questions: 2x10=20

@ G G A Teq wie s

(a) Distinguish between variable and attribute.

b3 @ @oAhE baifEE e Hitefd S|

(b) What is frequency distribution?

SAfgean Ferem e

(c) Define Relative frequency.

TirsifEs AfFaaa A we |

(d) Distinguish between class intervals and class widths.

@l owg ¢ i} R sty Rot s

(e) What is frequency polygon?
Afe qoeE H 2

(f) State two uses of Geometric mean.

SR ed qfo AI2E T I |
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(2) Find out the Harmonic mean of 48, 24, 6, 3.
48, 24, 6, 3-93 7S @fere st el T

(h) What 1s mode?
TRANGE A 2

(1) What is Pie diagram?
i foa J?

(j) How can you determine the median using the ‘less than’ and the ‘greater than’ ogives?
‘Less than’ @38 ‘Greater than’ TRAE @R A e w4l e T2

(k) What is median?
A FCF e ¢

(I) What is dispersion?
ﬁﬂgf\ﬁ FIF =2

(m) Write two advantages of Range.
2R i AR @

(n) Find out the standard deviation of 4, 4, 4, 4.
4, 4, 4, 4 AalerR T el [T @

(o) Define coefficient of variation.
CSMICET A& WG |

2. Answer any four questions:

5x4=20
@ (I 51 Are Te WG
(a) Discuss the difference between complete enumeration and sample survey.
A O ¢ TR SN W AL ST e |
(b) Draw a Bar diagram from the number of students in a class in different years.

A7 @ e RivA e wwic @ @ ws Ba o 3|
Year 2010 2011 2012 2013 2014 | 2015
BET
No. of Student 85 98 112 130 105 12;
2I& R
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(€) Find out the Arithmetic mean from the following frequency distribution

Msa wHfeiean ferema dfie e facfa aal

Weight (kg) 65 | 68 | 70 { 72
aE ((3fere) 'l |
No. of Person 5 3 2 i 2 :

; !
afe e i l 1

(d) Calculate Mean Deviation about mean for the following data:
A Al sififes st o fpfe fida @

70, 65, 68, 70, 75, 73, 80

(e) What are the advantages and disadvantages of mode as a statistical average?

afereraa 1% i wnefay Tm-az Jfa ¢ faqe & S

(f) What is weighted average? Explain with example.

CRYE T IS B (@A 7 THZAHZ WG A |
3. Answer any two questions: 10x2=20
@ I 75 eriE Tea e

(a) Explain the different parts of a table with a suitable diagram.

Toige wf4a ARy 9 ARG f[Afen s i s

(b) Draw the Histogram and Ogives for the following data:

Sioa wwef @ REBEN R eGR SEA FAl ¢

Marks in Statistics 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99
(afifeic 2lie T79)

Frequency 12 20 60 14 4 5
(sAfeea)
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(c) Determine median from the following data:

e el i wgwE Ww [T 3@ e

Class Boundaries | 15-25 | 25-35 3545 45-55 55-65 65-75
celfel

Frequency 4 11 19 14 0 2
“Af=

(d) Explain the advantages and disadvantages of standard deviation (S.D.) as a measure of
dispersion.

fgfon aafh sfamore o swe Ryfes AR ¢ sefRaaf arn @t
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L. Answer any ten questions: 2x10=20

@ @I G 2iosa e wies
(a) State the major tenancy reforms in the colonial period.
CoAfeiaiesora SR 3 2y AeEmstn ada @
(b) What is meant by the term ‘Deindustrialisation’?
SR “0 w7 @RI 2
(c) Write two causes behind the development of railways in colonial India.
eHAfeiraf Srre @A Saae P 9 @@d @
(d) Mention two effects of commercialisation of agriculture in colonial India.
aoferrafie erre FRa affEmdmads 9 dem @
(e) Mention two features of Industrial development in colonial India.
aeifarafaia erre e fawmag 96 e Smy #m@)
(f) Mention two rural handicrafts of British India.

fafb= erarez 4t arfia zafma Sew @

(g) What is commercial crop? Name any two commercial crop of British India.

affes == F7 fave sraves ub afdfee «mra m Sme 2=

(h) What is ‘Mahalwari’ system?

A eTd AaF B
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(i) State two large scale industries of India in the late 19th century.

S Ao (A SRS b RS Pme AN el

(j) Mention any four export crops of India in the late 19th century.

WWW&W@WWZ?%WWWW
(k) Mention any two features of ‘New Guarentee System'.
‘New Guarentee System'~43 7o (g T=d S
(1) What is meant by colonial economy?
2+ifrafe wdAfe e F @RI
(m) What was the condition of foreign trade under British rule?
SRR SETes AU e w9 @ &
(n) What is meant by ‘Home charges’ in colonial India?
BoffraiiT SrETSa @S e T [IRI?
(o) Mention two features of fiscal policy undertaken by government in colonial India.

2. Answer any four questions: 5x4=20
@ (I B 2rad Ted wies
(a) Briefly discuss the occupational structure of colonial India.

SHfRRT SIATSR (IS FAE FCFCH S |
(b) Briefly discuss the theory of ‘Economic Drain’.
SefTes ame ©gh AT HED T
(c) What were the effects of development of railways in the colonial India?
2frafRie oaTe @Eeea Rewm el & &
(d) What were the forms of colonial exploitation?
SR S8E ciremAeR § e
(e) What were the causes of famine in colonial India?

2efrafie o feres sRAsH 2

(f) Discuss the various estimates of India’s national income in the British India.

e s TRCed wiew WrEd R[few cfawsiel WA s
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3. Answer any two questions: 10x2=20
P 7 AR Tew wes

(a) Discuss the causes and effects of deindustrialisation in India.
S deindustrialisation-437 P49 @ A% N SEDA I |

(b) Explain the features of different land settlements introduced in British India.

Rifber Srts e R fi <rrm weRiEeft aok wca)

(c) Describe the irrigation system prevailed in India during the British India.
fafo w1 ot g viwrre Faefn St @)

(d) Discuss the trends in demographic change in British India.
fafb Srre R AfR@ER kel Wi 3@



